141/2"

—— 111/2" [—-—

17" — e 10 |——

131/2"

7. .
28" 22 . 361/2"

r__ 34" | 28 (Flat Surface)

N

N

18 1/2" ————

A

70

54

__Ai:/
43" sl 3/8Molded-in
(Flat Surface) Hex Nut

6x

| I MPP-141455-MG-X

!

REVISIONS

REV.

| DESCRPTION [ DATE APPROVED

31/2" —=—

Hang (1) Bolt Bag w/4 Bolt Kits

|
5/8"
: _ Includes (4) BK-24 Bolf Kits(Shipped
BK-24 Bolf Kit CBP-37-43-15A-MG-22x24Mp  With CBP-37-43-15A-MG-22x24-MP)
4x BK-24 Bolt Kit Includes:
4 CMPA-15-MG-NH ° .’] (1) 3/8-16x1.5 SST CH Bolt
T T (1) 3/8 SST Flat Washer
* (1) 3/8 SST Lock Washer
15" (1) 3/8 SST Hex Nut
— 16 1/2" | jrt—
+ 11/2" ——
o NOTE:
11/2" |<— —>| |—t] 1/2' 31 2"—>| [— —— .3 /2" MPP-141455-MG-X Shipped Separate
—— 191/2" e / /
41" —t— 3 1/2" r—— |8 —————————————— 4/ . .
/ Nordic Fiberglass, Inc.
. " - . " -—
47172 T 69 1/2 gl 21415 US Hwy 75 NW, Warren, MN 56762
www .nordicfiberglass.com
Customer Name: N/A 218-745-5095 ph. --- 218-745-4990 fax
DIMENSIONS ARE IN INCHES MATERIAL
TOLERANCES:  ANGLES = 10 CBP-37-43-15A-MP-MG-22x24
PROPRIETARY AND CONFIDENTIAL FRACTIONAL + 1/32 N DAt =
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ONE PLACE DECIMAL  +.060 DRAWN cic 09/24/20 A ‘ 00816.01 fe REL-01
NORDIC FIBERGLASS, INC. ANY REPRODUCTION IN PART OR AS A WHOLE TWO PLACE DECIMAL  +.030 = i : -
WITHOUT THE WRITTEN PERMISSION OF NORDIC FIBERGLASS, INC. IS PROHIBITED.  |THREE PLACE DECIMAL +.015 | CHECKED - SCALE120 | SHEET 1 OF 1




